Replaces Toro Greensmaster 3250-D

Parts
Traction Unit - Model 04383 & 04384
Three-Wheel Drive Kit - Model 04477

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




=4 Replaces Toro Greensmaster 3250-D

Hﬁn Parts
Traction Unit - Model 04383 & 04384

" Three-Wheel Drive Kit - Model 04477

Item R&R OEM Qty Order
No Part No. Part No. Description Req Quantity
Kits
100-6131,
10 R76-0800 76-0800, Seal Kit - Hyd Wheel Motor 1
94-8178
Motors
50 R112-0225 112-0225 Hydraulic Motor 1
Other Parts Available
340-14, e
100 R340-14 96-086/1 Hydraulic Fitting - 45 Deg 2
237-65, .
101 R237-65 23765 O-Ring 1
237-80, .
102 R237-80 327-80 O-Ring 1

3274-74,

103 R3274-93 3774-93 Bolt - Soc HD Cap 2
32127-29,

104 RF5003 e Locknut - ESNA 1/2-13 2
3296-23

105 R92-9165 92-9165 Seal 2

106 R92-9167 92-9167 Clutch - Roller 4

107 R10-6830 10-6830 Stud - 1/2-20 x 1 3/4 4

107 R10-6830S 10-6830 Stud - Drive - Hub 4

108 R85-8950 85-8950 Flange - Ball Bearing 1

109 R251-352 251-352 Bearing 1

110 R85-8940 85-8940 Flange - w/Zerk 1

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




=4 Replaces Toro Greensmaster 3250-D

Hﬁn Parts
Traction Unit - Model 04383 & 04384

" Three-Wheel Drive Kit - Model 04477

Item R&R OEM Qty Order
No Part No. Part No. Description Req Quantity

302-13,

111 R302-40 302-40

Fitting - Grease 1

21-6010,
302-11,
302-37,
302-47,
302-5,
302-57,
112 R302-5 302-58, Fitting - Grease 1

302-6,
31-0300,
32-9660,
60-0800,
62-3880,
92-4181

302-11,
302-19,
302-4,
32-8170

112 R700414 Zerk - Grease 1/4-28 45 Deg 1

3255-7,

113 R3255-7 6310

Washer - Lock 1/4 Ext Star Z 1

30-1740,
3290-378,
52-6570,
60-4340

114 R3290-378 Cable Tie 1

32104-32,
115 R32144-14 32104-49, Bolt - Hex Washer 5/16-18 x 5/8 4
32144-14

116 R33024-00 33024-00 Locknut - 8mm x 1.25 2

01-188-0420,
22-11-AID,
3217-5,
33024-00

116 R443102 Nut - 1/4-20 Yellow Zinc 2

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




